
CLASS DALATHORYON – BEGINNERS CLASS 
ASTELL WYDN – WHITEBOARD 
 

De Lun an seythves mis Whevrel 
Monday the seventh of February 
 
Quick revision 
Recite the numerals one to ten 
Now recite them backwards 
 
Five basic prepositions cause Second State mutation of the following word: 
a ‘of’ (not possession) 
dhe ‘to’ 
dre ‘through’ 
in dadn ‘under’ 
wàr ‘on, on to’ 
 

Compound preposition dhia ‘from’ (place or time) works like a. 
Compound preposition dhywar ‘off’ (motion) works like wàr. 
 

All other prepositions are followed by First State (i.e. no mutation). 
 


